Chapter 16: Therapy
100 MCQs
1.

Which of these is NOT a feature of biological treatments?

A.

They make direct changes to the nervous system.

B.

They are typically used by psychiatrists or other medically qualified practitioners.

C.

They are typically used in a hospital or outpatient setting.

D.

An example of a biological treatment is psychodynamic therapy. 

2. 
Which of the following do we know to be true of psychological treatments? (Please highlight all correct answers.)

A.

They can be administered by social workers. 

B.

Professionals do not need a specific qualification to administer them.

C.

An example of a psychological treatment is electroconvulsive therapy.

D.

None of the above.

3.

Which of these if NOT a surgical technique that has been used for the treatment of psychosis?

A.

ECT

B.

Lobotomy

C.

Trepanning

D.

Cingulotomy

4.

Which statement concerning psychological disorders until the late 18th century is FALSE?

A.

Sufferers were thought to be possessed by demons

B.

Some of these treatments were effectual and are still used today

C.

Treatments were designed to alter the body

D.

The goal of treatment was to drive out the evil spirits
5.

Which is NOT a biological treatment that was used up until the late 20th century and is no longer used today?

A.

Beatings

B.

Purgatives

C.

Lobotomy

D.

Near drowning

6.

Psychosurgery _______.
A.

Started with chimpanzee research

B.

Is based on the idea that the parietal lobes govern emotional behaviour and aggression

C.

Is estimated to occur about 100 times a year in Britain and the US

D.

Is used as a treatment for a variety of disorders

7.

We know that psychosurgery involves severing or otherwise disabling areas of the brain to treat a psychological disorder in the absence of any clear organic cause. But what is the difference between a lobotomy and a cingulotomy?

A.

In a lobotomy, nerve fibres connecting the frontal lobes with other parts of the brain are severed; in a cingulotomy, lesions are made in the cingulate gyrus. 

B.

In a lobotomy, lesions are made in the cingulate gyrus; in a cingulotomy, nerve fibres connecting the frontal lobes with other parts of the brain are severed.

C.

In a lobotomy, the cingulate gyrus is severed; in a cingulotomy, lesions are made in nerve fibres connecting the frontal lobes with other parts of the brain.

D.

In a lobotomy, nerve fibres connecting the frontal lobes with other parts of the brain are severed; in a cingulotomy, the cingulate gyrus is severed.

8.

Lobotomies were NOT ______.
A.

Particularly popular in the US

B.

Known as ice-pick surgery

C.

Administered as in-patient surgery

D.

Performed over 50,000 times in the US by the 1950s

9.

Cingulotomy ______.

A.

Was replaced by lobotomies

B.

Has a great many side-effects

C.

Affects areas of the limbic system in charge of emotion and behaviour
D.

Successfully decreases obsession and anxiety in 75% of patients

10.

Which of these does NOT apply to electroconvulsive therapy (ECT)?

A.

ECT is an effective treatment for severe depression.

B.

ECT is an effective treatment for schizophrenia. 

C.

In ECT, two electrodes are placed on the scalp.

D.

In ECT, a moderately intense electric current is passed between the electrodes for half a second.

11.

Electroconvulsive therapy _______.
A.

Is not widely used

B.

Results in major seizures that can be highly dangerous

C.

Is given with anaesthetics and muscle relaxants

D.

Involves a course of one treatment every year

12.

Which is a condition in which ECT would be used as a treatment?

A.

Depressed people who have not responded to antidepressant medication

B.

Patients who cannot take medication because of risk of suicide

C.

If there is a risk of death from refusal to eat

D.

All of the above

13.

Why might relapse rates of ECT be high?
A.

ECT is a failure as a treatment

B.

ECT is rarely incorporated into an ongoing therapeutic strategy

C.

ECT’s rapid impact on symptoms obscures the need for follow-up care

D.

Both B and C

14.

What support for the continuous use of ECT has been given?

A.

Right hemisphere administration eliminates verbal memory side-effects

B.

Most patients describe the experience as helpful and pleasant

C.

The Royal College of Psychiatrists views ECT as among the safest medical treatments under general anaesthesia

D.

All of the above

15.

Which of the following are valid criticisms of ECT? (Please highlight all correct answers.)

A.

The beneficial effects are short-term. 

B.

Relapse rates are high. 

C.

It causes permanent disorientation.

D.

It causes memory loss that can last for months. 

16. 

Which general term is used to describe the grouping of all drugs that have effects on psychological function?

A.

Neuroleptics.

B.

Psychotropics. 

C.

Anti-psychotics.

D.

Therapeutics.

17.

Why is it important for a clinical psychologist to understand psychotropic drugs?
A.

90% of patients who see a psychiatrist are prescribed drugs

B.

General practitioners frequently prescribe drugs

C.

Psychologists will often prescribe drugs to their patients

D.

Both A and C

18.

Typical antipsychotics ____________.
A.

Dominate the treatment of depression

B.

Reduce negative symptoms of schizophrenia

C.

Block dopamine receptors in certain brain systems

D.

Typical antipsychotics include clozapine and risperidone

19.

Atypical antipsychotics ______.

A.

Only reduce positive symptoms of schizophrenia

B.

Block both dopamine and serotonin receptors

C.

Atypical antipsychotics include chlorpromazine and haloperidol

D.

Do not affect schizophrenic symptoms such as appropriate affect, and motivation

20.

Which statement concerning the effectiveness of antipsychotic drugs is FALSE?
A.

Controlled studies show that they are not more effective than placebos for improving psychotic symptoms

B.

They do not cure schizophrenia

C.

They do not alter the progress of schizophrenia

D.

They have potent side-effects

21.

Which is NOT a possible symptom of antipsychotic drugs?

A.

Rabbit syndrome

B.

Increased spontaneity

C.

Pseudo-parkinsonism

D.

Tardive dyskinesia

22.

What characterizes the different symptoms that can result in prolonged treatment of antipsychotic drugs?
A.

Interference in dopamine systems that control vision

B.

Interference in serotonin systems that control tactition

C.

Interference in dopamine systems that control movement

D.

Interference in serotonin systems that control audition

23.

Which is NOT a consequence of the side-effects of antipsychotic drugs?

A.

Patients do not take their medications reliably

B.

Results in periodic worsening of symptoms and rehospitalization

C.

Patients become revolving door patients

D.

None of the above

24.

Why are antipsychotics sometimes referred to as neuroleptics?

A.

They affect neurological pathways

B.

They mimic neurological disorders

C.

Both A and B

D.

None of the above

25.

Which of these is NOT an ‘anti-depressant’?

A.

Prozac.

B.

SSRIs.

C.

Anti-convulsants. 

D.

Tricyclics.

26.

How do antidepressants work?
A.

They block dopamine

B.

They decrease availability of catecholamine

C.

They increase serotonin

D.

They decrease norepinephrine reuptake

27.

Why are tricyclics more widely used than MAOIs?

A.

They have fewer side effects

B.

They did not cause concentration difficulties

C.

Sexual dysfunction was not a side-effect

D.

MAOIs require strict dietary restrictions

28.

Why were designer antidepressants an improvement over MAOIs and tricylics?

A.

Fewer side-effects
B.

Less risk of lethal overdose
C.

Both A and B
D.

None of the above
29.

How do SSRIs work differently than MAOIs and tricyclics?

A.

They increase the availability of norepinephrine

B.

They have a minimal effect on norepinephrine and a maximal effect on serotonin

C.

They have a minimal effect on serotonin and a maximal effect on norepinephrine

D.

They decrease the availability of serotonin

30.

Which statement about antidepressants is TRUE?

A.

Approximately 70% of patients respond favourably

B.

Decline in symptoms occurs most quickly with SSRIs

C.

There are no individual differences involved in antidepressants

D.

If a patient’s depression is refractory then they will be given ECT
31.

What have dual-action antidepressants been found to treat?

A.

Bulimia

B.

Migraine headaches

C.

Both A and B

D.

Neither A nor B, only depression

32.

Which of these is an ‘anti-manic’?

A.

Lithium carbonate. 

B.

Proconvulsants.

C.

MAOIs.

D.

SSRIs.

33.

Antimanics _______.
A.

Prevent manic episodes in bipolar disorder

B.

Need a month of build up to become effective

C.

Rarely need to be paired with supplemental medications

D.

Used are generally lithium-based
34.

What is the primary risk of lithium treatment?

A.

High levels of side effects

B.

Muscular disorders
C.

Dangerous toxicity

D.

Dangerous interactions with other substances
35.

Benzodiazepines, a type of anxiolytic, ________.
A.

Increase nerve cell electrical activity by augmenting the affect of GABA

B.

Highly addictive and interact dangerously with alcohol

C.

Are slow acting, and take many doses to reduce anxiety

D.

Are not effective for treating PTSD and panic disorder

36.

Busiprone, a type of anxiolytic, ________.
A.

Is unsuitable for treating transient anxiety

B.

Is not chemically distinct from other anxiolytics

C.

Has a quick onset action

D.

Works well with acute anxiety

37.

How is busiprone different from other anxiolytics, especially benzodiazepines?

A.

They are more addictive

B.

They are more prone to side-effects

C.

They are less effective at treating generalized anxiety disorder

D.

They impair psychomotor performance

38.

A distinction is made between anti-depressants, anti-manics and anxiolytics – but which, if any, of the following descriptions of these types of drugs is INCORRECT?

A.

Anti-depressants are used to treat mood disorders.

B.

Anti-manics produce sedation and reduce anxiety. 

C.

Anxiolytics are popularly known as tranquillizers.

D.

None of the above – all are correct.

39.

Why are pre-post treatment designs not sensible for understanding drug effectiveness?
A.

Ignores spontaneous remittance of symptoms

B.

Neglects the fact that symptoms may fluctuate over time

C.

Does not control for possible placebo effects

D.

All of the above

40.

The placebo effect ______.
A.

Is only used by researchers, never practitioners

B.

Has only been found to effect psychological disorders

C.

Shows real functional improvement in 70% of patients

D.

Is all that is necessary for creating an appropriate clinical trial

41.

Both the single-blind procedure and the double-blind procedure are used to evaluate the effect of a therapy. But what is the difference between these two procedures?

A.

In the single-blind procedure, all staff are kept uninformed as to the true nature of the treatment; in the double-blind procedure, the staff and the patient remain uninformed.

B.

In the single-blind procedure, the patient is kept uninformed as to the true nature of the treatment; in the double-blind procedure, the patient and all staff remain uninformed. 

C.

In the single-blind procedure, all staff are informed of the true nature of the treatment; in the double-blind procedure, the patient and all staff are informed.

D.

In the single-blind procedure, the patient is informed of the true nature of the treatment; in the double-blind procedure, the patient and all staff are informed.

42.

What is NOT a problem that needs to be overcome when using appropriate randomized, double-blind placebo techniques?
A.

It is unethical to withhold treatment to administer a placebo

B.

It does not account for spontaneous remission of the disorder

C.

Side effects can make it apparent who is receiving the experimental drug

D.

Both B and C

43.

Which of the following most clearly defines the term ‘randomized clinical trial’ (RCT)?

A.

A clinical trial in which there is a random assignment of patients to treatment conditions, in order to evaluate the efficacy of a treatment. 

B.

A clinical trial in which the participants are randomly selected to take part, in order to ensure a broad range of different people.

C.

A clinical trial in which participants are not told which treatment condition they have been assigned to.

D.

A clinical trial in which the results are analysed as a group, and not traced back to individual participants, in order to protect their privacy.

44. In judging the efficacy of a treatment, which of the following might be consulted? (Please highlight all correct answers.)

A.

Patient reports.

B.

Ratings by hospital staff.

C.

Assessments by psychologists.

D.

All of the above. 

45.

What happens if a new drug is equivalent, or maybe even slightly less effective than existing treatment?
A.

The old drug will be preferred because there is a greater understanding of side-effects, interactions and possible dangers

B.

The new drug may be preferred because of lower costs

C.

The new drug may be preferred because of apparent fewer side-effects

D.

Both B and C

46.

How do we decide if a change caused by treatment is clinically meaningful?
A.

Test whether patients no longer fall within a disordered range of scores

B.

Look at the cost-effectiveness of the treatment

C.

Both A and B

D.

Neither A nor B

47.

Which of the following statements about psychotropic drugs is FALSE?

A.

Everyone responds to them. 

B.

Side-effects may preclude their use for some patients.

C.

Side-effects may lead some patients to discontinue their use.

D.

They do not help to tackle any life experiences that may have caused the disorder.

48.

Which is NOT a criticism of drug therapy?

A.

The benefits are limited

B.

They have done nothing to restore the lives of sufferers

C.

There is a possibility of over use, abuse, and addiction

D.

Their impact largely reflects a placebo effect

49.

Psychotherapy ____.

A.

Is treatments that use psychological methods

B.

Treatment can be conducted by anyone with good communication and relationship-building skills, self-awareness and self-monitoring

C.

Treatment engages clients in a camaraderie based relationship

D.

Is globally regulated by strict guidelines

50.

What does training in psychotherapy generally involve?

A.

Simply the completion of a basic, secondary-school or equivalent qualification
B.

Supervised treatment experience

C.

Techniques independent of the disciplinary background of the therapist

D.

Development of good communication and relationship-building skills

51.

Which statement about the uncovering of repressed memories is FALSE?
A.

It is facilitated by free association 

B.

It is a difficult procedure that rarely reveals memories clearly

C.

The analyst directs associations, through editing and censorship, towards the repressed memory

D.

Resistance is seen as a sign that a repressed memory is about to be recovered
52.

What is NOT the role of the analyst in psychoanalysis?

A.

Piecing together the patient’s patterns of associations
B.
To stand in for significant others in the patient’s life
C.

To remain neutral throughout the process 
D.

Employ countertransference to diminish the symptoms
53.

Which of the following are NOT aspects of transference? (Please highlight all relevant answers.)

A.

The client projects onto the analyst characteristics that are unconsciously associated with important interpersonal figures from the client’s past.

B.

The analyst must use his/her own unconscious feelings towards the patient to help to reduce the patient’s symptoms. 

C.

Trainees must undergo psychoanalysis themselves before qualifying as a psychoanalyst.

D.

All of the above.

54.

What is NOT a procedure used in contemporary psychodynamic therapy?

A.

Refer clients to self-help groups

B.

Ask clients to do homework between sessions

C.

Require clients to lie back on a couch
D.

Employ problem-solving in 20 sessions or less
55.

Contemporary psychodynamic therapy does not _______.
A.

Use a model of abnormal behaviour that involves intrapsychic conflict

B.

Require the patient’s life to remain stable

C.

Place any focus on current interpersonal relationships

D.

Pay close attention to the links between therapy and life between sessions

56.

Which is NOT a major limitation of psychoanalytic and psychodynamic therapies?
A.

They are not suited to people with mild psychological problems

B.

They are best suited to verbal, intelligent people

C.

Psychoanalysis is expensive and requires the ability to afford private practice

D.

Only available for those with a substantial amount of time

57.

According to behaviour therapy which of the following statements is FALSE?
A.

Therapists use techniques based on the principles of learning

B.

Behaviour therapy is a mechanistic and impersonal procedure

C.

Behaviour therapy is highly pragmatic

D.

Problematic behaviour is seen as learned

58.

Systematic de-sensitization and contingency management are examples of treatment in which model of psychotherapy?

A.

Biological.

B.

Family and couples.

C.

Behavioural. 

D.

Cognitive.

59.

Personal growth, self-acceptance and self-actualization are goals of treatment in which model of psychotherapy?

A.

Psychoanalytic.

B.

Cognitive.

C.

Family and couples.

D.

Humanistic. 

60.

Psychotherapy can take place in:

A.
Inpatient settings.

B.

Outpatient settings.
C.

Both (a) and (b). 

D.

Neither (a) nor (b).

61.

We know that classical psychoanalysis was developed by Freud. But which of the following is NOT one of its goals?

A.

To help the person gain insight into the ‘true’ reasons for their maladaptive behaviour.

B.

To work through the implications of the person’s maladaptive behaviour.

C.

To work through the associated feelings of the person’s maladaptive behaviour.

D.

To strengthen the id’s control over the ego and superego. 

62.

A person is exposed to a picture of a spider, and then a spider is brought in a cage and left on the other side of the room, then the spider is taken out of the cage, and this continues until eventually the person can hold the spider. What type of behaviour therapy has been used?
A.

Symptom substitution

B.

Token economy

C.

Systematic desensitization

D.

Covert sensitization

63.

Which of the following are exposure techniques? (Please highlight all correct answers.)

A.

Flooding. 

B.

Covert sensitization.

C.

Systematic desensitization. 

D.

All of the above.

64.

Which of the following is NOT a form of contingency management?

A.

Flooding. 

B.

Token economy.

C.

Time out.

D.

Response cost.
65.
If a therapist is using nods, smiles and approval to help bring about behaviour change in a client, what type of behaviour therapy are they using?
A.

Flooding

B.

Modeling

C.

Response cost

D.

Token economy

66.

An alcoholic is asked imagine drinking, and then imagines a situation where he has been nauseous before. What type of behaviour therapy is being used?

A.

Aversion therapy

B.

Modeling

C.

Covert sensitization
D.

Systematic desensitization

67.

Identify the CORRECT statement in relation to aversion therapy:

A.

All types of aversion therapy are based on classical conditioning.

B.

Aversion therapy cannot be used to treat sexual deviations.

C.

Aversion therapy teaches alternative behaviours to replace the problem activities.

D.

Systematic de-sensitization can induce a nauseous response to alcohol. 

68.

Which statement in regards to aversion therapy is FALSE?

A.

It does not teach alternative behaviours to replace the problem activities

B.

It only works with nausea related problems like smoking, drinking and overeating 

C.

There are serious ethical problems with exposing people to purposefully harmful events

D.

It tends to be used for acute behaviours that threaten the client’s or others’ well-being

69.

In modelling, when is the model most successful in promoting reduced anxiety in the client?
A.

When the model is similar to the client

B.

When the model has high status

C.

When the model is reinforced for acting appropriately in feared situations

D.

All of the above – and the model shows fear of the stimuli
70.

Social skills training ________.
A.

Is included in treatment of depression, anxiety disorders, and schizophrenia

B.

Begins with developing appropriate behaviour through modelling

C.

Rarely includes assertiveness training

D.

Includes concrete skills like making eye contact and avoids areas of interpersonal problem solving
71. How does cognitive therapy differ from behavioural therapy?

A.

Cognitive therapy does not engage the client in behavioural tasks.

B.

Cognitive therapy focuses on the patient’s internal experiences. 

C.

Behavioural therapy focuses on the patient’s internal experiences.

D.

Behavioural therapy focuses on the patient’s affective experiences.

72.

What is NOT a valid criticism of behaviour therapy?

A.

It deals with symptoms instead of root causes

B.

Symptom substitution is likely to arise

C.

It does not attend to thought processes that might support problem behaviour
D.

Both A and C

73.

What cognitive distortion may be present if someone thinks, ‘Whatever I say just shows how stupid I am’?
A.

Dichotomous thinking

B.

Arbitrary inference

C.

Overgeneralization

D.

Magnification

74.

Which statement does NOT describe the role of a cognitive therapist?

A.

Identify automatic thoughts

B.

Formulate hypotheses about the automatic thoughts

C.

Engage in collaborative empiricism

D.

Use free recall to break down resistance 

75.

Cognitive therapy _____.

A.

Is only used to treat depression

B.

Focuses on the origins of problems

C.

Produces acute symptom relief and lower relapse rates than drugs

D.

Does not engage the client in behavioural tasks
76.

Which is NOT a criticism of cognitive therapy?
A.

It emphasizes internal events at the expense of contextual events

B.

Its basis on linear causality is to complex

C.

Irrational beliefs can be desirable and rational beliefs can be maladaptive

D.

The positive effects may reflect a mechanism inherent in other psychotherapies

77.

Albert Ellis developed one of the earliest forms of cognitive therapy – rational emotive therapy (RET). But which of the following corresponds to Ellis’s reasoning on this?

A.

When an emotional consequence (B) follows an activating event (A), it is A that causes B.

B.

When an emotional consequence (C) follows an activating event (A), it is not A that causes C but the individual’s beliefs (B). 

C.

When an emotional consequence (C) follows an activating event (A), it is both A and the individual’s beliefs (B) that cause C.

D.

None of the above.

78.

Which is NOT the case? Humanistic therapies:

A.

Focus on the conscious experience of the client.

B.

Work on the premise that a client’s problems can be understood when viewed from an objective point of view. 

C.

View psychological problems as disturbances in awareness or undue restrictions on existence.

D.

Help people develop meaning in their life by the process of self-actualization.

79.

Which is NOT a goal of self-actualization in humanistic therapies?
A.

Change patterns of negative thinking

B.

Help people get in touch with their feelings

C.

Experience their true selves

D.

Encourage growth as a unique individual

80.

Select the CORRECT answer. Gestalt therapy:

A.

Was developed by Carl Rogers.

B.

Allows the client to determine what to talk about and when to do so, without direction, judgement or interpretation by the therapist.

C.

Aims to enhance the client’s awareness of herself, which helps the client to grow. 

D.

Asks the client to talk about both the past and the future.

81.

Gestalt therapy _____.

A.

Encourages escape into the past and future in order to understand the present
B.

Believes that people control their thoughts, behaviours and feelings too much

C.

Encourages the integration of polarities by embracing your true gender

D.

Requires that therapists be passive, allowing the client to find the answers

82.

The Gestalt therapist does NOT place more value in ______.

A.

Action than in words

B.

Experience than in thoughts

C.

Influencing beliefs

D.

Therapeutic interaction

83.

According to client-centred therapy, what is unconditional positive regard? 

A.

The therapist agrees with everything the client says to show lack of judgment
B.

The therapist offers advice to show engagement in the process

C.

The therapist always approves of the clients actions

D.

The therapist conveys that the client is cared for, accepted, and trusted to change

84.

Empathy, in client-centred therapy, is NOT _________.
A.

Conveyed by listening

B.

Shown by the use of reflection

C.

Having the client see things from others point of view

D.

Paraphrasing what the client has said

85.

In client-centred therapy, genuineness means __________.
A.

That a therapist experiencing fatigue would not mention the fatigue

B.

There is congruence between the therapist’s actions and feelings

C.

There is congruence between the therapist’s thoughts and discussion

D.

That a therapist will not affirm a client that he feels is worthless

86.

Which is NOT a valid criticism of humanistic therapies?

A.

Client-centred therapy focuses on progress responses

B.

Humanistic therapies emphasize awareness, but distressed individuals are over-aware already
C.

Gestalt therapy is said to border on game playing

D.

There is little data to substantiate the effectiveness of client-centred therapy

87.

We can trace family therapy back to the family theories of schizophrenia in the 1950s, such as those by Bateson and colleagues (1956). But what was the radical new perspective on psychological disorders that Bateson and colleagues offered?

A.

Focusing on the interaction taking place when the behaviour occurs. 

B.

Considering individual behaviour as isolated from an interpersonal context.

C.

Both (a) and (b).

D.

Neither (a) nor (b).

88.

What is NOT a goal of structural family therapy?
A.

Focuses on the organization of the family

B.

Concentrate on parental relationships
C.

Uses direct interventions to disrupt dysfunction

D.

To change dysfunctional patterns of interaction
89.

Couple’s therapies are NOT ______.
A.

Varied

B.

Practiced in an attempt to change interactional patterns

C.

Focused on the marital dyad

D.

Designed to help couples break out of reciprocity cycles

90.

Which statement concerning couple’s and family therapies is FALSE?
A.

They have been criticized that they reflect little more than the charisma of the therapist

B.

Treatments produce beneficial outcomes

C.

There is very little research on many of these therapies

D.

Treatments are not as effective as individual treatments

91.

The most thoroughly evaluated couple therapy infers that interactions of distressed couples are characterized by negative reciprocity. But what is meant by negative reciprocity?

A.

The tendency for one partner to respond with negative behaviour when the other partner behaves positively.

B.

The tendency for one partner to respond with positive behaviour when the other partner behaves negatively.

C.

The tendency for one partner to respond with negative behaviour when the other partner behaves negatively. 

D.

The tendency for one partner to respond with negative behaviour, regardless of whether the other partner behaves positively or negatively.

92.

What aspect of psychotherapy were Smith, Glass and Miller trying to evaluate when they took on the monumental task of analysing 475 studies involving 25,000 patients in 1980?

A.

Which is superior: biological or psychological treatment.

B.

The effectiveness of psychotropic drugs.

C.

The limits of drug therapy.

D.

The effectiveness of psychotherapy. 

93.

In 1994 Consumer Reports did a survey that found that half of the respondents who had received psychotherapy thought that it had helped a great deal, with most saying it had helped at least somewhat. What makes this survey uninterpretable?
A.

Only 1.9% of the original sample responded

B.

The nature and the metric of the outcome variable is unknown

C.

The self-selected nature of the sample

D.

All of the above

94.

The treatment–etiology fallacy and similia similibus curantur are both logical errors. But which one of the following descriptions does NOT accurately reflect one of these terms?

A.

In the treatment–etiology fallacy, treatment mode is assumed to imply the cause of the disorder.

B.

Similia similibus curantur is the notion that like is cured by like.

C.

In the treatment–etiology fallacy, the cause of the disorder dictates which treatment mode is used. 

D.

Similia similibus curantur is a principle used in homeopathy.
95.

Which is NOT a difficulty that needs to be overcome in order to evaluate the effectiveness of psychotherapy?
A.

Difficulty of creating a control group

B.

It is impossible to use ‘double-blind’ procedures

C.

There are not enough therapies to make a meaningful comparison

D.

Self-selection bias

96.

What have subsequent meta-analyses concluded about the efficacy of psychotherapy?
A.

The average client who received treatment was worse off than the 50% of clients who went untreated

B.

After 6-8 sessions 50% of clients show improvement
C.

If clients have not showed improvement by the 15th session, it is unlikely they will
D.

Psychotherapy has no beneficial effect
97.

What does it mean that it is estimated that about 5-10% of clients deteriorate after psychotherapy?
A.

Psychotherapy does not work as an effective treatment

B.

The therapist was incompetent, or unable to create a good relationship with the client

C.

The therapy disrupted a stable pattern of functioning without offering a substitute
D.

Both B and C

98.

Which of the following statements is TRUE?
A.

Psychotherapy can not be used to treat biologically caused disorders

B.

Psychotherapy is clearly superior for the treatment of anxiety disorders

C.

Drug treatment effects appeared sooner and were more effective for the treatment of severe depression
D.

None of the above
99.

Which of the following statements is FALSE in relation to whether it is possible to combine biological and psychological forms of treatment? Studies have found that:

A.

Concurrent, joint use of medication and psychotherapy produces significant additional advantage. 

B.

Combined treatment can be more effective for some disorders than for others.

C.

Combining treatments sequentially may be helpful, especially in preventing relapse.

D.

A combined treatment approach is particularly valuable with clients who may initially be too depressed or anxious to participate fully in psychotherapy.

100.

Which type of interventions work best?

A.

Biological interventions

B.

Psychological interventions

C.

Combined biological and psychological interventions

D.

It depends on the course of the disorder

